
/sd ? xhf/df

1 wf/fvf]nf vf=kf= lgdf{0f 5 250

2 bd} eb'jf/s'jf vf=kf= lgdf{0f 5 200

3 9fkvf]nf vf=kf= lgdf{0f 5 200

650

! hnb]jL df= lj= kmlg{r/ vl/b % 100

@ lz4:yfgL df= lj= kmlg{r/ vl/b % 100

# l;~hfnL df=lj= kmlg{r/ vl/b $,% 200

s"n hDdf 400

! rfKkfgL dlGb/ dd{t % 50

50

1 blnt pTyfg sfo{qmd -j8f g+= %_ 5 50

2 dlxnf, afnjflnsf, h]i7 gful/s tyf ckfË lxt sfo{qmd 5 100

150

1 hnb]jL o'jf Sna v]n d}bfg lgd{f0f % 200

2 e~HofËL o'jf Snj v]n d}bfg lgd{f0f % 200

3 e};]kf]n o'jf Sna v]nd}bfg lgd{f0f % 150

4 o'jf nlIft sfo{qmd % 50

5 ;f]/7L o'jf Sna v]n d}bfg lgd{f0f % 100

s"n hDdf 700

1 yfgLdfO{ dlxnf ;d"x ejg lgd{f0f % 300

2 b]p/fnL o"jf Sna ejg lgd{f0f % 400

3 wf/fkfgL Sna ejg lgd{f0f % 300

4 j8f sfo{fnosf] tf/af/ % 100

5 r08]Zj/L dlxnf ;d'x ejg lgd{f0f % 400

sfof{Gjog x'g] :yfg ljlgof]lht ? 

j8f g+=% tfSn'Ësf] cf=j= )&%÷)&^ sf] :jLs[t !% nfv eGbf tnsf] of]hgf÷sfo{qmdx? 
rfn' vr{ lzif{s 

 vfg]kfgL tyf ;/;kmfO{ 

ljlgof]lht ? 

l;=g+= sfo{qmd ÷ cfof]hgfsf] gfd sfof{Gjog x'g] :yfg ljlgof]lht -?_ 

 ;fdflhs ljsf; 

 lzIff ljsf; 

l;=g+= sfo{qmd ÷ cfof]hgfsf] gfd sfof{Gjog x'g] :yfg 

hDdf 

sfof{Gjog x'g] :yfg ljlgof]lht ? 

l;=g+= sfo{qmd ÷ cfof]hgfsf] gfd sfof{Gjog x'g] :yfg ljlgof]lht ? 

hDdf 

l;=g+= sfo{qmd ÷ cfof]hgfsf] gfd sfof{Gjog x'g] :yfg ljlgof]lht ? 

s"n hDdf

 n}lËs ;dfgtf tyf ;dflhs ;dfj]lz s/0f 

l;=g+= sfo{qmd ÷ cfof]hgfsf] gfd 

 ;+:s[lt k|j4{g

 ljljw 

 ejg tyf zx/L ljsf;

l;=g+= sfo{qmd ÷ cfof]hgfsf] gfd 



s"n hDdf 1500

1 cfn{fËbL e};]kf]n kf]v/L8f8fF tf]/]g ;8s % @,))

2 cfn{fª\bL–h'DnL rf}tf/f ;8s % !),))

3 h'DnLrf}tf/f e};]kf]n uf]/]6f]af6f] % !,))

4 8f8fFufpF 9f8]vf]nf ;8s :t/ pGgtL % !,%)

5 ltgdfg] b]lv cw]/L hf]8\g] uf]/]6f] af6f] % !,))

6 tf]/]g uf]/]6f] af6f] -d'Vo ;8saf6 dfly rf}tf/f ;Dd_ % !,))

7 b]p/fnL5fk e};]kf]n ;8s :t/pGgtL % !,%)

8 dfemufpF b]lv k}/]8L ;8s % !,))

9 dfl:s5fk gfs] kx/f ;8s :t/f]GgtL % @,))

10 PSn]a/ /flgZjf/f 6'gLvf]nf ;8s lgd{f0f % #,))

11 ltgdfg] sfx'n] u'b{'d ;8s :t/pGgtL % @,%)

12 efn]df/] b]lv rfKkfgL ;8s dd{t % !,))

s"n hDdf

 ;8s tyf k'n -emf]n'Ë] k'n ;d]t_

l;=g+= sfo{qmd÷cfof]hgfsf] gfd sfof{Gjog x'g] :yfg ljlgof]lht ? 


